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{  Try todo the following mentally Write down thcm'ltox-

a 48+51 b 66+23 ¢ ”f&:.
« 034+046 £ 049037 9 ou.
| B52+556 ] 91245 K 3,”.

m 48-43 n 96-62 o 87~ _‘f'

q TT7-49 r B4A-18 s 11-0¢8

2 What is the totol length of each of the following garden i ,.: ne

e om

3. Try the following mentally :-
9 Anempty cooking pot weighs 0'6 kilograms.
37 Wegrams of meat are placed in the pot,

What is the combined weight 2

&
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o Itis6% miles clong the motorway from my house to the &
If T 90 the scenic route, it is 95 miles to the supermarket:

Heumhshmer&snfommmn” 'm" ?

Three W’ws s
Bob m g.”'- -'l;;%.-.- '
Fred gers £550 ond yo

- R 72

d 2 .
Ny Travels 58 kem by matorbike from her home to meet 78

Irovels 67 kn from her g
After their meeting, they bo::n n!wn” wu: Jmes.
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Copy the following ond find :-

768
15 «79 . Bb.
568 . 249
e 765 f 4-28 g 604 h 837
g 173 ® 309 -
eS8 559 172
| 582 J 13-57 k2914 | 3694
« 739 + 1578 + 387 . 2809
f
m 85 n 438 o 624 [ 3118
- 21 - 224 - 357 - 2695
q 748 r B-49 s 508 t 954
- 635 - 657 - 109 - 172
u 524 v 9-67 w 501 x 1212
-416 - 491 - 443 - 523
., Calculate :-
e £364+£409 b £3758+£2523
¢ E7254+ ETT77 d £826+£94
e £4837+£726 f £5692+ £7260
g £947-£353 h £864-£299
i £372-£168 j £7251- £4527
k £8180-£929 |  £2350 - £367.
Letitia bought a brocelet for £45-50 ond carrings at £12:65. @
How much did she spend altogether ?
: e bought a comera for £82:35
/ but sold it the following year for £2370.
Howmchdidhe!oscbynll&qthecm?
In an ice skating competition Marion was awarded 19 points
more than Christopher.
Christopher received 7-4 points.
What was Marion's mark ?
* Adeli .
One ":g:"' is pushing two parcels on a trolley.
Wher 197 kg, the other weighs 367 k3.
is the total
%o weight of the parcels ?
' imal Numbers 1
opter 3 this is poge 49 -
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7 Find the missing numbers.

() M+ A= ® W+A+Q
(c) M+ A< ) M+ A+O

Double each number.
(0) 04 ) 02 (¢) 05 (¢) 07 (e) 09

(@) 07 +03 ) 06 +07 (¢) 08 +09 (@) 05 +09
(¢) 07+08 (n 09+06 (g) 06 +05 (h) 08 + 04

Add. (@ 03+15 (b)06+43 (¢) 09+ 51
Increase (o) 28by 05 (1) 39by04 (c) 1-3by08.

(@) 07+ M ®) 01 +I
(< W+05 @ W+




2 Double.
(a) 23 (b) |4 () 46 (d) 39 (e) 28

3 (@ 77+12 (b) 55+25 (c) 58+ 27 (d) 38+ 34
() 22+49 (N 69+ 2:8 (99 25+ 18 (h) 2:6 + 47
(i) 773+ 719 (i) 97+ 44 (k) 57+ 57 (1) 86+ 68

() 26 + =3 (b) 41 +W=5 () S4+H=6
(d WM+63=7 (e Wm+97=10 () W+78=8

5 o) B+ A=68 ) B+A=102 (c) W+ A=I35
./ @ B+A+O=76 () B+A+O=83



Column Addition Practice (No Regrouping)

Group 3
a b C. d. Z
2 1 6 3| &
+ 11 + +(21 + +(2 1|0
I
'I
i g h| L i
16 210 2
+ 2 + +1219 + +131]3
k. L m. Fi. .
3|6 & |7 419
+| 3|2 + +|2)|2 + +|310
II
o q- r i 5 t
& | 6 713 3|2
+|(2]2 + +1218 + + (45
I
u W. W, L8 L.

& 5 2|5
+11)|2 + +(3]1 + +|5 |2
w P 1 o] & Iﬁl.ﬂ.:-w
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